—-4x+4
2)? = x?
X —

@
(
z (x+ 3y)% = x2 + 6xy + 9y?
x+4
@(x 2)2 =x%-2x+
® (

2y)? = x% — dxy + 4y?
x—

1
2=x>+2x+

(x+1) i W
(x=2)? = x% —4x

® e




D x2-3x-3 @ x2-3x-6 ® 2-3x+6
@x2—6x+9 ® x24+6x+9

X -2xx%x3+(-3)2=x*-6x+9




3.

X +y2-4-2xy 9

@x—y—Q

@ x-y+4

A7t o Qe A2
@ x-y-4 ® x+y-2
® x+y+2
P4y -d-2xy = (x-y)?>-2°

=(x-y+2)(x-y-2)




@ (x-y+1)(x-y-1) @ (xty+Dx+y-1)
@ (x—y+D(x+y-1) @ (x—y-1)(x+y-1)

® (x+y+1)(x-y-1)

X2 -2xy-1+y> =(x®-2xy+y?*) -1
= (x-y)?-1?
=@x-y+x-y-1)




x? —y? 4+ 8x 4 4y + 12

O (x+y+3)(x-y+4) @ (x+y+4)(x-y+3)
® (x+y+2)(x+y+6) @ (x+y-2)(x-y-6)
@(x+y+2)(x—y+6)

¥+ 8x- (2 -4y-12)
=x*+8x—(y+2)(y-6)
=x+y+2)(x-y+6)




6.

oAl X2 — dxy 4+ 3y? - Tx + 5y — 8 = g-EalotH?

D (x+3y-8)(x+y+1) @ (x=3y+8)(x+y+1)
® (x+3y-8)(x—-y-1) @ (x=3y+2)(x—y+4)
@(x—3y—8)(x—y—|—1)

¥ - (dy+T)x+3y? +5y-8
=x>-(4y+Tx+By+8)(y-1)
=(x-3y-8)(x—-y+1)




A = 2a® — 4ab, B = a*b — 2a °] I Agolt}t. 2] gk
g nE N2H?
Q A °llA 2a & 7} Fe] 3521 dg=oltt.
O B9 lgEastab-2 2 5 2 70|},
© A 9B 9] F591 A+E ? otk
©O @ © ® 6,0
@o.© ® 6,0,0

o]/\1_

A =2a(a—2b),B = a(ab - 2)
OB

L=

a,ab -2, a(ab - 2)°|th.
© 4 % B o] 5 I a o]k,




8.  ’y—y-2+2¢ 9 57t obd AL?

® x-1 @ x+1
@y-2 © y+2

~&B

(FA) =xy+2x%2-y-2
=x*(y+2)-(r+2)
2

-1y +2)
=@+ )x-1r+2)




+ V8, y=3- V8L U, (& +y)2 - (x"—y")? ] 2,

@1 @ 2 ® 3 @)4 ® 5

(" +y")? = (2" = y")?

= (Y =P+ )
= 2x" X 2y" = 4(xy)"

xy=(3+ V8)(3- V8) =1

SA(xy)t =4




a® +a®-3a-

10. o —3+2v3 <, 3 o) gte 7atmo

a+1
@2\/5 @2+ V2 ® 2v2-1
@ 42 ® 4v2-2

~&B

a+a*-3a-3 a*(a+1)-3(a+1)
a+1 a+1
(@®>-3)(a+1)
a+1
=a?2-3=22




